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A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ; iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1. Administration is “the direction,

coordination and control of many

persons to achieve some purpose.”

This is attributed to :

(A) Woodrow Wilson

(B) Felix A. Nigro

(C) L. D. White

(D) Henry Fayol

2. Division of administration as public

and private is not a matter of :

(A) Convention

(B) Scientific classification

(C) Tradition

(D) Practical utility

1. iz'kklu vusd O;fDar}kjs fuf'pr mÌs'k izkIr

dj.;klkBh funsZ'ku] leUo; vkf.k fu;a=.kkph

fÿ;k vkgs %

(A) oqM™ks foYlu

(B) QsfyDl ,- fuxzks

(C) ,y- Mh- OgkbZV

(D) gsUjh Qs;kWy

2. lkoZtfud vkf.k [kktxh iz'kkluke/khy

foHkktu gs [kkyhy ckchaoj vk/kkfjr ukgh %

(A) izFkk

(B) 'kkL=h; oxhZdj.k

(C) ijaijk

(D) izk;ksfxd mi;qDrrk

Public Administration
Paper III

yksdiz'kklu
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions, each

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dse/;s ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u fnysys vlwu izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-



4

DEC-21313/III

3. Integral approach to the study of

public administration means

including :

(A) all core activities of the state

(B) important activities of the

state

(C) all activities sequentially

(D) all activities of state

4. ‘Administrative State’ means :

(A) state administration is

becoming strong

(B) the role of state is changing

(C) coverage of state services is

increasing

(D) nature of state services is

changing

3. yksd iz'kklukP;k ,fdœr n`f"Vdksukr [kkyhy

xks"Vhaps v/;;u lekfo"V vkgs %

(A) jkT;kaP;k loZ vk/kkjHkwr œrh

(B) jkT;kaP;k egRoiw.kZ fÿ;k

(C) loZ ÿfed fÿ;k

(D) jkT;kaP;k loZ fÿ;k

4. iz'kkldh; jkT;kpk vFkZ %

(A) jkT;iz'kklu 'kDrh'kkyh gksr vkgs

(B) jkT;kph Hkwfedk cnyr vkgs

(C) jkT; lsokaps {ks= ok<r vkgs

(D) jkT; lsokaps Lo:i cnyr vkgs



5 [P.T.O.

DEC-21313/III

5. Who said that “the distinction

between management and

administration is misleading and

false” ?

(A) Gulick

(B) Fayol

(C) Simon

(D) Waldo

6. Public administration is important

in developing countries because :

(A) these are newly freed

(B) government functions are

new

(C) government organization is the

only organized structure

(D) citizen-expectations are rising

5. ^^O;oLFkkiu vkf.k iz'kklukrhy varj HkzekRed

vkf.k feF;k vkgs-** vls dks.kh EgVys

vkgs \

(A) xqfyd

(B) Qs;kWy

(C) lk;eu

(D) okYMks

6. yksdiz'kklukps egRo fodlu'khy ns'kkae/;s

vlY;kps dkj.k %

(A) rs uoLora= vkgs

(B) 'kklukps dk;Z uohu vkgs

(C) 'kklukps la?kVu gh ,dek= la?kfVr jpuk

vkgs

(D) ukxfjdkaP;k vis{kkae/;s o`ºh gksr vkgs
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7. “New Public Administration has

resulted in the propagation of an

illusion of a paradigm shift.” Who

observed ?

(A) Dunn and Fozouni

(B) Dwight Waldo

(C) Frank Marini

(D) Fred Riggs

8. The pure executive form of

management reflects in :

(A) Committee pattern

(B) Functional pattern

(C) Line pattern

(D) Line and staff pattern

9. Delegation by trust is similar

to :

(A) General delegation

(B) Informal delegation

(C) Formal delegation

(D) Specific delegation

7. ^^uo yksdiz'kklukpk ifj.kke Eg.kts ,d

osx š Hkkleku izk:i r;kj dj.;kpk izpkj

gks;-** vls er dks.kh ekaMys \

(A) Mu vkf.k Qks>ksuh

(B) M~okbZV~ okYMks

(C) ›°d eWfjuh

(D) ›sM fjXt

8. O;oLFkkiukps 'kqº dk;Zikyhdk Lo:i [kkyhy

xks"Vhae/;s izfrfcafcr gksrs %

(A) lferh iºr

(B) dk;kZRed iºr

(C) js[kh; iºr

(D) js[kh; vkf.k lYykxkj iºr

9. fo'oklkP;k vk/kkfjr iznŸkrk [kkyhyuqlkj

leku vkgs %

(A) lkekU; iznŸkrk

(B) vukSipkfjd iznŸkrk

(C) vkSipkfjd iznŸkrk

(D) fo'ks"khœr iznŸkrk
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10. Which of the following is not a

feature of coordination ?

(A) It is a dynamic process

(B) It has a common purpose

(C) It emphasises on unity of

command

(D) It is an executive responsibility

11. The basic principle, process and

effect of hierarchy are :

(A) Leadership, delegation,

coordination

(B) Communication, centralisation,

supervision

(C) Centralisation, communication,

leadership

(D) Delegation, coordination,

centralisation

12. Coordination is hampered by :

(A) Lack of administrative skill

(B) Expansion of administration

(C) Group feeling

(D) Flow of authority

10. [kkyhyiSdh dks.kps oSf'k"VÓ leUo;kps

ukgh \

(A) rh ,d xfreku izfÿ;k vkgs

(B) rs ,d lkekU; mfÌ"V vkgs

(C) rs vkns'kh; ,drsoj Hkj nsrs

(D) rh dk;Zikfydh; tckcnkjh vkgs

11. inlksikursps ewyHkwr rRo] izfÿ;k vkf.k izHkko

gs vkgs %

(A) usr`Ro] iznŸkrk] leUo;u

(B) lalwpu] dsaÊhdj.k] i;Zos{k.k

(C) dsaÊhdj.k] lalwpu] usr`Ro

(D) iznŸkrk] leUo;u] dsaÊhdj.k

12. leUo;u d'kkus ckf/kr gksrs \

(A) iz'kkldh; dkS'kY;kph deh

(B) iz'kklukpk foLrkj

(C) lewg Hkkouk

(D) lŸkspk izokg
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13. “The number of people directly

subordinated to one executive

should be limited.” This refers to the

principle of :

(A) Span of coordination

(B) Span of control

(C) Span of conflict

(D) Span of conduct

14. Gang plank means :

(A) Horizontal contact between

corresponding levels of various

organizations

(B) Vertical contact within same

organization

(C) Across contact between two or

more organisation

(D) Contact between two superiors

15. Which of the following does not

result from delegation ?

(A) Effective leadership

(B) Flexibility

(C) Authority

(D) Inefficiency

13. ^^dk;ZikfydsP;k izR;{k vkf/ku deZpkÚ;kaph

la[;k e;kZfnr vlk;yk ikfgts**µgs d'kk'kh

lacafËkr vkgs \

(A) leUo;kps {ks=

(B) fu;a=.kkps {ks=

(C) la?k"kkZps {ks=

(D) lafgrsps {ks=

14. x°xIy°d Eg.kts %

(A) fofHkUu la?kVukaP;k leLrjh; inkae/khy

lekarj laidZ

(B) le la?kVuse/khy yackRed laidZ

(C) nksu fdaok tkLr la?kVukae/khy vkjikj

laidZ

(D) nksu mPp inkf/kdkÚ;kae/khy laidZ

15. [kkyhyiSdh iznŸkrspk ifj.kke dks.krk ukgh \

(A) izHkkoh usr`Ro

(B) yofpdrk

(C) lŸkk

(D) vdk;Z{kerk
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16. Weber’s analysis of bureaucracy

had :

(A) Political perspective

(B) Sociological perspective

(C) Economic perspective

(D) Cultural perspective

17. Kautilya’s state is :

(A) Theocratic state

(B) Police state

(C) Paternalistic state

(D) Democratic state

18. Who advocated the new human

relations approach ?

(1) Chris Argyris

(2) Warren Bennis

(3) Elton Mayo

(4) Rensis Likert

Select the correct code :

(A) 1 and 3

(B) 2 and 4

(C) 3 and 4

(D) 1, 2 and 4

16. oscjP;k uksdj'kkghP;k fo'ys"k.kkpk lanHkZ

vkgs %

(A) jktdh; ifjizs{;

(B) lekt'kkL=h; ifjizs{;

(C) vkfFkZd ifjizs{;

(D) lkaLœfrd ifjizs{;

17. dkSfVY;kps jkT; vkgs %

(A) /keZ jkT;

(B) iksfyl jkT;

(C) fiŸk`or jkT;

(D) yksdlŸkkRed jkT;

18. uoekuoh laca/k n`f"Vdksu dks.kh izfrikfnr

dsyk \

(1) fÿl vkxhZfjl

(2) okWjsu csful

(3) ,YVu es;ks

(4) jsUlhl fydVZ

;ksX; i;kZ; fuoMk %

(A) 1 vkf.k 3

(B) 2 vkf.k 4

(C) 3 vkf.k 4

(D) 1, 2 vkf.k 4
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19. “Politics-administration dichotomy

is a misleading distinction which

had become a fetish, a stereotype in

the minds of theorists and

practitioners alike,” is said by :

(A) M. E. Dimock

(B) C. J. Friedrick

(C) P. H. Appleby

(D) Dwight Waldo

20. The title “Essential Frankfurt School

Reader” deals with :

(A) New public administration

(B) Public choice school

(C) Public policy approach

(D) Critical perspective

19. jktdkj.k&iz'kklu f}Hkktu gs vls Hkzeewyd

vkgs dh ts flºkaroknh vkf.k O;ogkjok|kaP;k

eukr va/kJºk vkf.k ladqfpr lkP;kps cuys

vkgs_ vls dks.kh EgVys vkgs \

(A) ,e- bZ- fMekWd

(B) lh- ts- ›sMfjd

(C) ih- ,p- ,iych

(D) M~okbZV okYMks

20. ^^blsU'khvy ›WUdQVZ Ldwy fjMj** gs 'kh"kZd

fuxfMr vkgs %

(A) uoyksd iz'kklu

(B) yksdfuoM fopkj

(C) yksduhfr n`f"Vdks.k

(D) VhdkRed ifjizs{;
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21. According to Herzberg true

motivation comes from :

(A) Interpersonal Relations

(B) Personal Development

(C) Job Security

(D) Administrative Practices

22. “What a man can be, he must be.”

This has a reference to :

(A) Job enrichment

(B) Theory Y

(C) Self-actualisation

(D) Democratic leadership

23. McGregor’s theory X and theory Y

are often presented as :

(A) Bureaucratic model

(B) System model

(C) Game theory

(D) Closed model and open

model

21. gtZcxZuqlkj [kjh izsj.kk dks.kkiklwu feˇrs \

(A) varoSZ;fDrd laca/k

(B) oS;fDrd fodkl

(C) dk;Z lqj{kk

(D) iz'kkldh; O;ogkj

22. ^^euq"; tlk cuq 'kdrks] rlk rks cuyk

ikfgts**µ;k fo/kkukpk lanHkZ d'kk'kh vkgs \

(A) dk;Z le`ºh

(B) ok; flºkar

(C) vkRecks/k

(D) yksdlŸkkRed usr`Ro

23. eWdxzsxjP;k ,Dl vkf.k ok; flºkarkyk

lkekU;i.ks izLrqr dsys tkrs %

(A) uksdj'kkgh izk:i

(B) O;oLFkk izk:i

(C) [kš  flºkar

(D) can vkf.k [kqys izk:i
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24. gcZVZ lk;eu us iz'kkldh; rRokauk Eg.kh EgVys

vkgsµdkj.k %

(1) oSKkfud la'kks/kukoj rs vk/kkfjr ukgh

(2) rs rkfdZdn`"V;k vlax vkf.k ijLij

fojksËkh vkgs

(3) R;kph oSf'od mi;ksfxrk eku.ks

(4) lkekU; Kkukoj vk/kkfjr dsysys fu"d"kZ

vkgsr

;ksX; i;kZ; fuoMk %

(A) 1 vkf.k 2

(B) 1, 2 vkf.k 3

(C) 2, 3 vkf.k 4

(D) 1, 2 vkf.k 4

25. esjhikdZj QkWyVuqlkj fufgr 'kDrhP;k :ikr

lŸkspk [kjk vk/kkj vkgs %

(A) ntkZ

(B) dk;nk

(C) Kku

(D) dk;Z

24. Herbert Simon has described the

principles of administration as

proverbs because :

(1) They are not based upon

scientific research

(2) They are logically inconsistent

and mutually contradictory

(3) Their universal application is

upheld

(4) They are commonsense

conclusions derived from

experience

Select the correct code :

(A) 1 and 2

(B) 1, 2 and 3

(C) 2, 3 and 4

(D) 1, 2 and 4

25. To Mary Parker Follett authority,

as vested power, derives its true

basis from :

(A) Status

(B) Law

(C) Knowledge

(D) Function
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26. “If the study of comparative public

administration was not comparative

it would sound hollow” :

(A) Herbert Simon

(B) Chester Barnard

(C) Robert Dahl

(D) Fred Riggs

27. Comparative Administration is not :

(A) Applied

(B) Intellectual

(C) Culture Bound

(D) Comparative

28. The principle of Rule of Lapse is not

strictly followed in :

(A) USA

(B) UK

(C) India

(D) U.S. and U.K.

26. ^^rqyukRed yksdiz'kklu gs tj rqyukRed

ulsy] rj rh iksdˇ /ouh Bjsy-**

(A) gcZVZ lk;eu

(B) psLVj cukZMZ

(C) jkWcVZ <kg~y

(D) ›sM fjXt

27. rkSyfud iz'kklu Eg.kts dk; ukgh \

(A) mi;ksftr

(B) ckSfºd

(C) laLœfr flfer

(D) rqyukRed

28. yksi iko.;kP;k fu;ekps rRo dBksji.ks ikˇys

tkr ukgh %

(A) ;q- ,l- ,-

(B) ;q- ds-

(C) Hkkjr

(D) ;q- ,l- vkf.k ;q-ds-
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29. The model by Riggs, which bears the

features of both agraria and

industria is called as :

(A) Agraria-Industria model

(B) A-I model

(C) Transitia model

(D) Middle range model

30. Who contributes more to policy

making in India ?

(A) Politicians and Bureaucracy

(B) Social groups

(C) Press and media

(D) Information technology

31. Diffracted society is structurally :

(A) undifferentiated

(B) highly disintegrated

(C) highly specialised

(D) semi-differentiated

29. T;kr 'ksrh vkf.k m|ksx nksgksaps oSf'k"VÓ vk<ˇrs

R;k fjXtP;k izk:ikyk Eg.krkr %

(A) œ"kd&vkS|ksfxd izk:i

(B) ,&vk; izk:i

(C) laÿe.kh; izk:i

(D) e/; {ks= (range) izk:i

30. Hkkjrkr /kksj.k fufeZrhe/;s vf/kd ;ksxnku dks.kh

fnys \

(A) jktdkj.kh vkf.k uksdj'kkgh

(B) lkekftd lewg

(C) o`Ÿk vkf.k izlkjek/;es

(D) ekfgrh ra=Kku

31. ijkofrZr lektkph lajpuk vkgs %

(A) vfoHkDrhdj.k

(B) vfr fo[kafMr

(C) vfr fo'ks"khœr

(D) v/kZ&foHkkftr
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32. What is the main cause of equi-

genetic change ?—(Riggs)

(A) Equal factors

(B) Genetic factors

(C) External and internal pressures

(D) Similar factors

33. Construction project of Hoover

Dam in U.S. is development

administration because :

(A) it is capital intensive

(B) U.S. is a developed country

(C) construction processes are

technobased

(D) it is goal-oriented

34. Weberian model of bureaucracy is

not characterised by :

(A) Legal status

(B) Division of work

(C) Rational structures

(D) Popular participation

32. le&vuqok a f'kd cnykps e q[; dkj.k

dks.krs \ (fjXt)A

(A) leku ?kVd

(B) vuqokaf'kd ?kVd

(C) ck· vkf.k varxZr ncko

(D) le:i ?kVd

33. ;q- ,l- ;sFkhy gqoj Mseph cka/k.kh ;kstuk gs

fodkl ofgokV vkgs dkj.k %

(A) gs l[kksy HkkaMoy vkgs

(B) ;q- ,l- gs ,d fodlhr ns'k vkgs

(C) cka/k.kh dk;Zi zfÿ;k ra= vk/kkjhr

vkgs

(D) gh fLFkfrKkukRed /;s; vkgs

34. oscjP;k uksdj'kkgh izk:ikps oSf'k"VÓ

ukgh %

(A) oS/kkfud ntkZ

(B) dkekps foHkktu

(C) rkfdZd lajpuk

(D) yksdizh; lgHkkx
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35. funsZ'k %

iz'ukps mŸkj [kkyh fnysY;k ladsrkae/kqu

fuoMk %

fo/kku (A) :

vkfFkZd fodkl foŸk vkf.k O;;koj voyacwu

vlrks-

dkj.k (R) :

fodkl'khy ns'kkr v/kZfodklkps dkj.k varxZr

gksrs-

ladsrkad %

(A) nksUgh (A) vkf.k (R) gs cjkscj vkgs

vkf.k (R) gs (A) ps ;ksX; Li"Vhdj.k

vkgs

(B) nksUgh (A) vkf.k (R) gs cjkscj vkgs

i.k (R) gs (A) ps ;ksX; Li"Vhdj.k

ukgh

(C) (A) gs cjkscj i.k (R) gs pwd vkgs

(D) (A) gs pwd i.k (R) gs cjkscj vkgs

35. Instruction :

Answer the following question by

using the codes given below :

Assertion (A) :

Economic development emphasizes

on cost-effectiveness

Reason (R) :

Causes of underdevelopment in

developing countries were internal.

(A) Both (A) and (R) are true and

(R) is the correct explanation

of A

(B) Both (A) and (R) are true

but (R) is not the correct

explanation of (A)

(C) (A) is true and (R) is false

(D) (A) is false but (R) is true
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36. lkeqnkf;d fodklkr Jh fudsru iz;ksxkpk Hkj

vkgs %

(A) lkaLœfrd laca/k

(B) yksdizh; lgHkkx

(C) y?kq;a=kapk mi;ksx

(D) izkR;{khd izHkko

37. rqyukRed iz'kklu leqgkus Hkj fnyk %

(1) vk/kqfudrk

(2) uksdj'kkghph Hkwfedk

(3) O;oLFkk LFkS;Z

(4) O;oLFkk ns[kjs[k

;ksX; i;kZ; fuoMk %

(A) (1) vkf.k (4)

(B) (1) vkf.k (2)

(C) (2), (3) vkf.k (4)

(D) (1), (2) vkf.k (4)

36. The emphasis of Sri Niketan

experiment in community

development was on :

(A) Cultural link

(B) Popular participation

(C) Use of small machines

(D) Demonstration effect

37. The Comparative Administration

Group emphasized on :

(1) Modernity

(2) Bureaucratic role

(3) System stability

(4) System-maintenance

Select the correct option :

(A) (1) and (4)

(B) (1) and (2)

(C) (2), (3) and (4)

(D) (1), (2) and (4)
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38. LFkkfud fodklkps ;'k eq[;r% voyacwu

vlrs %

(A) fu;fer foŸkh; lgdk;Z

(B) l'kDr LFkkfud usr`Ro

(C) mi;qDr ra=Kkukph lks;

(D) yksdizh; lgHkkx

39. [kkyhyiSdh lfpoky;kps oSf'k"VÓ ukgh %

(A) rs izkeq[;kus /kksj.k fufeZrh'kh lacaf/kr

vkgs

(B) R;kpk iz'kkldh; izeq[k lkekU;r%

lkekU;K vkgs

(C) rs izkeq[;kus js[kk vfHkdj.k vkgs

(D) rs ea´;k'kh izR;{k laidkZr vlrkr

40. ekDlZP;k ers] uksdj'kkgh gs can fuxe vkgs]

dkj.k %

(A) xq<oknh O;fDreRo

(B) vkRe foLrkj

(C) yksd lsok

(D) O;kolkf;d izxrh (dWfjvkWfj>e)

38. The success of local development

mainly depends upon :

(A) Regular financial support

(B) Strong local leadership

(C) Availability of appropriate

technology

(D) Popular involvement

39. Which of the following is not a

feature of secretariat ?

(A) It is mainly concerned with the

formulation of policy

(B) Its administrative head is

generally a generalist

(C) It is primarily a line agency

(D) It is in direct contact with the

ministers

40. Marx views bureaucracy as a closed

corporation because of its :

(A) Mysterious entity

(B) Self-aggrandisement

(C) Public service

(D) Careerism
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41. The first state to enact the

Lokayukta Act was :

(A) Andhra Pradesh

(B) Orissa

(C) Kerala

(D) Rajasthan

42. Decentralised cadre service applies

to :

(A) All grades of Centre Secretariat

Service

(B) Central Secretariat Clerical

Service

(C) Selection Grade and Grade I

(D) Section Officer and Assistant

Grade

43. Decentralised cadre service was

introduced on the observation of :

(A) Department of Personnel

(B) Ministry of Home

(C) Estimate Committee

(D) Union Public Service Commission

41. yksdk;qDr dk;nk ikfjr dj.kkjs ifgys jkT;

vkgs %

(A) vkU/kz izns'k

(B) vksfjlk

(C) dsjyk

(D) jktLFkku

42. fodsaÊhœr Js.kh lsok ykxw gksrs %

(A) dsaÊh; lfpoky; lsosP;k loZ Js.kh

(B) dsaÊh; lfpoky;kph fyfid lsok

(C) fuoM Js.kh vkf.k izFke Js.kh

(D) d{k vf/kdkjh vkf.k lgk∏;d Js.kh

43. fodsaÊhœr Js.kh lsok dq.kkP;k erkuqlkj lq:

>kyh \

(A) dkfeZd foHkkx

(B) x`g ea=ky;

(C) vankt lferh

(D) la?k yksd lsok vk;ksx
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44. Match List I with List II and select

the correct answer by using the

codes below :

List I  List II

(a) Minister (1) Executive decisions

(b) Secretary (2) Group meetings

(c) Executive head (3) Policy decisions

(d) Secretariate (4) Advice and assist

Codes :

(a) (b) (c) (d)

(A) (3) (2) (1) (4)

(B) (2) (3) (4) (1)

(C) (1) (2) (3) (4)

(D) (4) (1) (2) (3)

45. Who of the following has contributed

to the field of Development

Administration ?

(A) Henry Fayol

(B) Montegomery

(C) Frederick Herzberg

(D) Chris Argyris

44. lwph I yk lwph II lkscr tq̌ ok vkf.k [kkyhy

i;kZ;kaiSdh ;ksX; i;kZ; fuoMk %

lwph I lwph II

(a) ea=h (1) dk;Zdkfj.kh fu.kZ;

(b) lfpo (2) lewg lHkk

(c) dk;Zdkjh izeq[k (3) /kksj.k fu.kZ;

(d) lfpoky; (4) lYyk vkf.k lgk;rk

dwV %

(a) (b) (c) (d)

(A) (3) (2) (1) (4)

(B) (2) (3) (4) (1)

(C) (1) (2) (3) (4)

(D) (4) (1) (2) (3)

45. [kkyhyiSdh dks.kh fodkl iz'kklu {ks=kr

;ksxnku fnys \

(A) gsUjh Qs;kWy

(B) ekWUVsxkWesjh

(C) ›sMfjd gtZcxZ

(D) fÿl vkxhZfjl
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46. The main weakness of field

administration is :

(A) Lack of comprehensiveness

(B) Inadequate direction from

ministry

(C) Lack of support structure

(D) Lack of public awareness

47. Who initiated the ‘Tenure System’

in Central Secretariat ?

(A) Lord Ripon

(B) Lord Curzon

(C) Lord Litton

(D) Lord Wellesely

48. The functions of the Union Public

Service Commission can be extended

by :

(A) President

(B) Prime Minister

(C) Ministry of Personnel

(D) Parliament

46. {ks=h; iz'kklukP;k eq[; m.kho vkgs %

(A) lexzkpk vHkko

(B) ea=ky;k}kjs vi;kZIr funsZ'k

(C) lgk;d lajpukapk vHkko

(D) yksd tkx`rhpk vHkko

47. dsaÊh; lfpoky;kr dk;Zvo/kh O;oLFkk dks.kh

'kq: dsyh \

(A) ykWMZ fjiu

(B) ykWMZ d>Zu

(C) ykWMZ fyÍu

(D) ykMZ osyLyh

48. la?k yksd lsok vk;ksxkP;k dk;kZr dks.k foLrkj

d: 'kdrks \

(A) jk"V™irh

(B) iar iz/kku

(C) dkfeZd ea=ky;

(D) laln
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49. The final work of UPSC in

recruitment process is :

(A) Selection

(B) Appointment

(C) Certification

(D) Placement

50. In US the “spoils system” began

during the period of :

(A) Jefferson

(B) Jackson

(C) Washington

(D) Adams

51. Posting of an IAS probationer is

decided by :

(A) Ministry of Personnel

(B) Ministry of Home Affairs

(C) Union Public Service

Commission

(D) Chief Secretary of the State

52. Preparation of budget is the

responsibility of the Department

of :

(A) Revenue

(B) Expenditure

(C) Economic affairs

(D) Budget

49. la?k yksd lsok vk;ksxkP;k Hkjrh izfÿ;srhy

vafre dk;Z vkgs %

(A) fuoM

(B) fu;qDrh

(C) izekf.kr

(D) infuf'prh

50. vesfjdsr [kSjkr iºrhph lq#okr P;k dkˇkr

>kyh %

(A) tsQjlu

(B) tWDlu

(C) okWf'kaxVu

(D) vWMEl~

51. vk;- ,- ,l- mesnokjkph use.kwd dks.kk}kjs

fuf'pr dsyh tkrs %

(A) dkfeZd ea=ky;

(B) x`g ea=ky;

(C) la?k yksd lsok vk;ksx

(D) jkT;kpk eq[; lfpo

52. vankti=d r;kj dj.;kph tckcnkjh dks.kR;k

foHkkxkph vkgs \

(A) jktLo

(B) O;;

(C) vkfFkZd O;ogkj

(D) vankti=d
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53. Right to Information (RTI) is a

means of :

(A) Economic Growth

(B) Quality Approach

(C) Protection of Rights

(D) Transparency

54. “Financial administration is at the

core of modern government.” This

statement is made by :

(A) Hoover Commission

(B) Finance Committee

(C) Fulton Commission

(D) Administrative Reforms

Commission

55. Which of the following articles

provides security of job to civil

servants ?

(A) 310

(B) 311

(C) 312

(D) 313

53. ekfgrhpk vf/kdkj (RTI) dks.kkps lkËku

vkgs \

(A) vkfFkZd o`ºh

(B) xq.koŸkk n`f"Vdksu

(C) gDd laj{k.k

(D) ikjn'kZdrk

54. ^^foŸkh; iz'kklu vk/kqfud 'kklukpk

ik;kHkwr xkHkk vkgs-** gs fo/kku dks.kh

EgVys vkgs \

(A) gqoj vk;ksx

(B) foŸk vk;ksx

(C) QqYVu lferh

(D) iz'kklfud lq/kkj lferh

55. ukxfjd lsodkaph dk;Z lqj{kk dks.kR;k dyek

}kjs iznku dsyh vkgs \

(A) 310

(B) 311

(C) 312

(D) 313
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56. Assertion (A) and Reason (R)

pattern.

Answer the following questions by

using the codes given below :

Assertion (A) :

The budget should be prepared on

the basis of revised estimates.

Reason (R) :

It makes the parliamentary control

over public expenditure meaningful.

Codes :

(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but

(R) is not a correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

57. In Social Sciences Applied

Research :

(A) Establishes a relationship

between variables

(B) Rejects or supports the existing

theories

(C) Measures the effectiveness of a

programme

(D) Is often interdisciplinary

56. fo/kku (A) vkf.k dkj.k (R) uequk-

iz'ukps mŸkj [kkyh fnysY;k ladsrke/kqu

fuoMk %

fo/kku (A) :

lq/kkfjr vanktkP;k vk/kkjkoj vankti=d r;kj

Ogko;kl gos-

dkj.k (R) :

rs lkoZtfud O;;kyk lalnh; fu;a=.kk}kjs

vFkZiw.kZ cuors-

ladsrkad %

(A) nksUgh (A) vkf.k (R) gs cjkscj vkgs vkf.k

(R) gs (A) ps ;ksX; Li"Vhdj.k vkgs

(B) nksUgh (A) vkf.k (R) gs cjkscj vkgsr

i.k (R) gs (A) ps ;ksX; Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs i.k (R) gs pwd

vkgs

(D) (A) gs pwd vkgs i.k (R) gs cjkscj

vkgs

57. lkekftd 'kkL=kae/;s mi;ksftr la'kks/kukpk vFkZ

vkgs %

(A) pykae/;s laca/k izLFkkfir dj.ks

(B) fo|eku flºkarkauk ekU;rk ns.ks fdaok

ukdkj.ks

(C) dk;ZÿekP;k izHkkokps ekiu dj.ks

(D) rs vf/kd izek.kkr vkarj'kk[kh; vlrs
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58. The field study method like survey

method :

(A) Is representative of all

subgroups

(B) Presents a detailed picture of

social interrelationship

(C) Produces findings for

hypothesis

(D) Has a large universe

59. The primary source of data collection

is :

(A) Observation

(B) Diaries

(C) Memoires

(D) Letters

60. Tabulation is :

(A) Presentation of data in rows and

columns

(B) Coding of data

(C) Collection of data

(D) Classification of respondents

61. Representative local government in

India is :

(A) A Historic legacy

(B) A French creation

(C) A British legacy

(D) An ancient existence

58. {ks=h; v/;;u iºrh] losZ{k.k iºrh

izek.ksp %

(A) rs leLr mixVkaps izfrfuf/k vlrkr

(B) rs lkekftd varl±ca/kkaps foLr`r fooj.k

izLrqr djrkr

(C) rs x`fgrdkalkBh rF; izLrqr djrkr

(D) R;kps v/;;u {ks= O;kid vlrs

59. rF; ladyukps izkjafHkd lzksr vkgs %

(A) fufj{k.k

(B) nSuafnuh

(C) vkBo.kh

(D) i=s

60. lkj.kh;u vkgs %

(A) rF;kaps js[kk vkf.k LraHkke/;s lknjhdj.k

(B) rF;kaps lafgrhdj.k

(C) rF;kaps laxzghdj.k

(D) mŸkjnkR;kaps oxhZdj.k

61. Hkkjrke/;s izfrfuf/kd LFkkfud 'kklu vkgs %

(A) ,sfrgkfld okjlk

(B) ›sap œrh

(C) fczfV'k okjlk

(D) izkphu vfLrRo
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62. The focus of Mayo Resolution (1870)

was on :

(A) Resource mobilization

(B) Local association

(C) Relief work

(D) Associating elite people

63. Assertion (A) and Reason (R)

pattern.

Answer the following questions by

using the codes given below :

Assertion (A) :

British rule was a decentralized

rule.

Reason (R) :

The office of the District Collector

represents centralisation.

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

62. 1870 P;k es;ks izLrkokpk [kkyhy jks[k

gksrk %

(A) lalk/kukps vkca/ku

(B) LFkkfud layXurk

(C) enr dk;Z

(D) Js"Bhtukapk lg;ksx

63. fo/kku (A) vkf.k dkj.k (R) uequk iz'ukps

mŸkj [kkyh fnysY;k ladsrke/kqu fuoMk %

fo/kku (A) :

fczfV'k 'kklu fodsafÊr 'kklu gksrs-

dkj.k (R) :

ftYgkf/kdkÚ;kps in dsaÊhdj.kkps izfrfu/khRo

djrs-

(A) nksUgh (A) vkf.k (R) gs cjkscj vkgs

vkf.k (R) gs (A) ps ;ksX; Li"Vhdj.k

vkgs

(B) nksUgh (A) vkf.k (R) gs cjkscj vkgs

i.k (R) gs (A) ps ;ksX; Li"Vhdj.k

ukgh

(C) (A) gs cjkscj i.k (R) gs pwd vkgs

(D) (A) gs pwd i.k (R) gs cjkscj vkgs
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64. Assertion (A) and Reason (R)

Pattern.

Answer the following questions by

using the codes given below :

Assertion (A) :

The formal role of collector is

declining in modern times.

Reason (R) :

Local representatives have direct

contact with state administration.

(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but

(R) is not a correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

64. fo/kku (A) vkf.k dkj.k (R) uequk iz'ukps

mŸkj [kkyh fnysY;k ladsrke/kqu fuoMk %

fo/kku (A) :

vk/kqfud dkˇkr ftYgkf/kdkÚ;kaph vkSipkfjd

Hkwfedk deh gksr vkgs-

dkj.k (R) :

LFkkfud izfrfu/khpk jkT;'kkluk'kh FksV laidZ

gksr vkgs-

(A) nksUgh (A) vkf.k (R) gs cjkscj vkgs

vkf.k (R) gs (A) ps ;ksX; Li"Vhdj.k

vkgs

(B) nksUgh (A) vkf.k (R) gs cjkscj vkgs

i.k (R) gs (A) ps ;ksX; Li"Vhdj.k

ukgh

(C) (A) gs cjkscj i.k (R) gs pwd vkgs

(D) (A) gs pwd i.k (R) gs cjkscj vkgs
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65. The concept of Mandal Panchayat

comes close to the ‘Firka’

development experiment carried

in :

(A) Maharashtra

(B) Tamil Nadu

(C) Punjab

(D) Bihar

66. Constitutional status to local

government means :

(a) Integration with the

constitution

(b) Independence from the state

administration

(c) Structural changes need

constitutional amendment

(d) Integration with the system of

governance

Select the correct answer from the

codes :

Codes :

(A) (a) and (d)

(B) (a) and (c)

(C) (a), (b) and (d)

(D) (a), (c) and (d)

65. eaMy iapk;rhph ladYiuk ^fQjd* fodkl

dks.kR;k jkT;karhy iz;ksxkP;k toˇ tkrs \

(A) egkjk"V™

(B) rkfeˇukMw

(C) iatkc

(D) fcgkj

66. LFkkfud 'kklukP;k laoS/kkfud ntkZpk vFkZ

vkgs %

(a) lafo/kkuklkscr ,dhdj.k

(b) jkT;iz'kklukiklwu Lokra´;

(c) lajpukRed ifjorZuklkBh lafo/kku nq#Lrh

vko';d

(d) 'kklu O;oLFks lkscr ,dhdj.k

ladsrkadke/kwu ;ksX; i;kZ; fuoMk %

ladsrkad %

(A) (a) vkf.k (d)

(B) (a) vkf.k (c)

(C) (a), (b) vkf.k (d)

(D) (a), (c) vkf.k (d)
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67. Voluntary provisions of the

73rd Constitutional Amendement

are :

(a) Make reservation for OBC

(b) Authorising Panchayats to

prepare plans

(c) Conferring financial powers to

Panchayats

(d) Setting up of a State Election

Commission

Select the correct answer from the

codes :

Codes :

(A) (a), (b) and (c)

(B) (d) and (c)

(C) (b), (c) and (d)

(D) (a) and (c)

68. The present social welfare strategy

is :

(A) Protective

(B) Curative

(C) Developmental

(D) Rehabilitative

67. 73O;k lafo/kku nq#Lrh vf/kfu;eke/;s ,sfPNd

izko/kku vkgs %

(a) vks-ch-lh- lkBh vkj{k.k ns.ks

(b) ;kstuk fufeZrh e/;s iapk;rhauk vf/kdkj

ns.ks

(c) iapk;rhauk fofŸk; vf/kdkj ns.ks

(d) jkT; fuoM vk;ksxkph LFkkiuk dj.ks

ladsrkadke/kwu ;ksX; i;kZ; fuoMk %

ladsrkad %

(A) (a), (b) vkf.k (c)

(B) (d) vkf.k (c)

(C) (b), (c) vkf.k (d)

(D) (a) vkf.k (c)

68. orZeku lkekftd dY;k.kkph O;wgjpuk

vkgs %

(A) laj{k.kkRed

(B) lq/kkj.kkRed

(C) fodklkRed

(D) iquoZlukRed
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69. When was Central Social Welfare

Board established ?

(A) 1952

(B) 1953

(C) 1955

(D) 1957

70. “The state is everywhere, it leaves

hardly a gap.” This statement

explain the concept of :

(A) Democratic state

(B) Federal state

(C) Welfare state

(D) Entrepreneural state

71. Who initiated the disinvestment

policy in India ?

(A) Arun Shourie

(B) Manmohan Singh

(C) P. Chidambaram

(D) P. V. Narsimharao

69. dsaÊh; lekt dY;k.k eaMˇkph LFkkiuk dsOgk

>kyh \

(A) 1952

(B) 1953

(C) 1955

(D) 1957

70. ^^jkT; gs loZ= vkgs] rs dks.krsgh {ks= fjdkes

lksMr ukgh-** gs fo/kku ;k ladYius'kh Li"V

gksrs %

(A) yksd'kkgh jkT;

(B) la?k jkT;

(C) dY;k.kdkjh jkT;

(D) m|kstd jkT;

71. Hkkjrkr fuxq±ro.kwd /kksj.kkpk izkjaHk dks.kh

dsyk \

(A) v:.k 'kkSjh

(B) eueksgu flax

(C) ih- fpnacje

(D) ih- Ogh- ujflagjko
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72. The concept of joint sector was

introduced to :

(A) Reduce concentration of

economic power

(B) Speed up industrialization

(C) Develop cottage industries

(D) Increase employment

73. The Maharatna Status Empowers

Mega-Central Public Enterprises to

take investment decisions upto :

(A) 5000 crores

(B) 3000 crores

(C) 2000 crores

(D) 1000 crores

74. What is disinvestment ?

(A) Process of modernisation

(B) More investment

(C) Less investment

(D) Selling out public sector

industries to private sector

75. The maximum labour oriented

industries in India are :

(A) Cement

(B) Textiles

(C) Iron and Steel

(D) Jute

72. la;qDr {ks=kph ladYiuk ;k dkj.kkus izLrqr

dsyh %

(A) vkfFkZd 'kDrhP;k dsaÊhdj.kkl deh

dj.ks

(B) vkS|ksfxdj.kkyk xfreku dj.ks

(C) dqVhj m|ksxkauk fodflr dj.ks

(D) jkstxkjke/;s o`ºh dj.ks

73. egkjRu ntkZ fo'kky dsaÊh; yksd m|ksxkauk ;k

flesi;±r xqaro.kqd fu.kZ;kpk vf/kdkj nsrs %

(A) 5000 djksM

(B) 3000 djksM

(C) 2000 djksM

(D) 1000 djksM

74. fuxq±ro.kwd Eg.kts dk; \

(A) vk/kqfudhdj.kkph izfÿ;k

(B) vf/kd xqaro.kqd

(C) deh xqaro.kqd

(D) lkoZtfud m|ksxkauk [kktxh {ks=kr fod.ks

75. Hkkjrkr tkLrhr tkLr etqjkafHkeq[k m|ksx

vkgs %

(A) flesaV

(B) VsDlVkbZYl

(C) yks[kaM vkf.k LVhy

(D) T;qV
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ROUGH WORK


